OobOO0IrTo40 00
0o
0000000000000000000000000000R, =500R,=5Q0R3=10Q0L =
C1=Co=55- FOf=50Hz01,=10 A0, =3A0V, =95V 0000
Ip
©

L

o

Ia<D Ry

go

go0ooo0oooooooooobooo0ooooooooooooooooobooooboono
Ib

0
gbooobooboobooboboobooboon

I, + 1, L1 ee 1
R _
o Xb/ | R TR, Ry Vi
I+ | _1 i-l—i—k'wC’ +L V2
Rt Ry R, Ry 7T el
O00000000000000
13 %150) _% v,
1 = .
13 1 3—1J Va
2 5 10
000 AD
A 20+5) 3-4 C1\? 4+g2-1 3442
5 10 5/ 25 25
Cramer DO QOO0
13 -1
13 3—j
2 25 13 5.13
V=12 10 1 _ 23— = 4—4)==(4—-75)B3—-52)==(10—-411) V
1 x 312 uﬁ Jj+1) 2(3+j2)( )= 5( J)B —=j2) = 5(10 — j11)
2(154‘j) 13
-+ 25 13 5-13
V, = 5 2 1 _ 214+ 1) = 24+5)=52+45)B3-352)=58-4)V
5 A 310 5( +j+1) 3+jf +J)=52+7)(3—-32) =508 —1j)
000000000000 000000000000000000000000
Vi o1 .
Ip = —X = 2(10 — j11) A
B R 2( 0—411)
Vi — Vs 3 _
Ip, = = 2(24+43) A
Ro 78 2( +73)
Vo=V 1 .
Ip. = = (11 A
Rs 7 2( +7)

1

507

HDO



